



ANTWERP WORLD CUP 2025 (BE)
06-12 October 2025

Pre-Pre-Qual Groups									
Group	Match Players	T-Car	T-Inn	Avg	MP	1st HR	2nd HR		
A	PHILIPOOM Luca	23	24	0.958	0	5	4		
	WALLERAND Paul	30	24	1.250	2	10	3		
	THON Viet Hoang Minh	30	18	1.666	2	7	4		
	PHILIPOOM Luca	15	18	0.833	0	4	2		
	THON Viet Hoang Minh	30	31	0.967	1	4	3		
	WALLERAND Paul	30	31	0.967	1	6	3		
Players		Nat	T-Car	T-Inn	G.Avg	MP	1st HR	2nd HR	Place
THON Viet Hoang Minh		VN	60	49	1.224	3	7	4	1
WALLERAND Paul		BE	60	55	1.090	3	10	6	2
PHILIPOOM Luca		NL	38	42	0.904	0	5	4	3
B	LINDEMANN Ronny	30	26	1.153	2	7	4		
	SPRUZINA Frank	8	26	0.307	0	3	2		
	BRANTS Ronny	30	35	0.857	2	4	3		
	SPRUZINA Frank	11	35	0.314	0	3	3		
	BRANTS Ronny	30	21	1.428	1	10	6		
	LINDEMANN Ronny	30	21	1.428	1	4	4		
Players		Nat	T-Car	T-Inn	G.Avg	MP	1st HR	2nd HR	Place
LINDEMANN Ronny		DE	60	47	1.276	3	7	4	1
BRANTS Ronny		BE	60	56	1.071	3	10	6	2
SPRUZINA Frank		DE	19	61	0.311	0	3	3	3
C	MORALES Marcos	26	17	1.529	0	8	6		
	PHAM Quoc Thuan	30	17	1.764	2	6	5		
	ABU TAYEH Mashhour	27	27	1.000	0	5	4		
	MORALES Marcos	30	27	1.111	2	5	4		
	ABU TAYEH Mashhour	30	15	2.000	2	8	7		
	PHAM Quoc Thuan	15	15	1.000	0	3	2		
Players		Nat	T-Car	T-Inn	G.Avg	MP	1st HR	2nd HR	Place
PHAM Quoc Thuan		VN	45	32	1.406	2	6	5	1
ABU TAYEH Mashhour		JO	57	42	1.357	2	8	7	2
MORALES Marcos		ES	56	44	1.272	2	8	6	3
D	PINARD Patrice	30	43	0.697	2	4	3		
	PRASSAS Konstantinos	29	43	0.674	0	5	3		
	BROUWERS Reggy	14	26	0.538	0	4	2		
	PRASSAS Konstantinos	30	26	1.153	2	5	4		
	BROUWERS Reggy	30	39	0.769	1	5	3		
	PINARD Patrice	30	39	0.769	1	5	4		
Players		Nat	T-Car	T-Inn	G.Avg	MP	1st HR	2nd HR	Place
PINARD Patrice		FR	60	82	0.731	3	5	4	1
PRASSAS Konstantinos		GR	59	69	0.855	2	5	5	2
BROUWERS Reggy		NL	44	65	0.676	1	5	4	3





Union Mondiale de Billard

ANTWERP WORLD CUP 2025 (BE)

06-12 October 2025

Pre-Pre-Qual Groups

Pre-Pre-Qual Groups									
Group	Match Players	T-Car	T-Inn	Avg	MP	1st HR	2nd HR		
E	KAPUSIZ Ufuk	26	26	1.000	0	6	4		
	MELNYTSCHENKO Cedric	30	26	1.153	2	4	4		
	LONG Nguyen Chi	30	19	1.578	2	5	4		
	KAPUSIZ Ufuk	18	19	0.947	0	6	5		
	LONG Nguyen Chi	30	18	1.666	2	6	5		
	MELNYTSCHENKO Cedric	20	18	1.111	0	5	4		
Players		Nat	T-Car	T-Inn	G.Avg	MP	1st HR	2nd HR	Place
LONG Nguyen Chi		VN	60	37	1.621	4	6	5	1
MELNYTSCHENKO Cedric		FR	50	44	1.136	2	5	4	2
KAPUSIZ Ufuk		TR	44	45	0.977	0	6	6	3
F	MAVRIDOGLOU Litsa	9	34	0.264	0	4	2		
	BLAUWBLOMME Henk	30	34	0.882	2	6	3		
	IBRAIMOV Amir	30	28	1.071	2	3	3		
	MAVRIDOGLOU Litsa	19	28	0.678	0	4	3		
	IBRAIMOV Amir	30	16	1.875	2	7	6		
	BLAUWBLOMME Henk	14	16	0.875	0	4	2		
Players		Nat	T-Car	T-Inn	G.Avg	MP	1st HR	2nd HR	Place
IBRAIMOV Amir		DE	60	44	1.363	4	7	6	1
BLAUWBLOMME Henk		BE	44	50	0.880	2	6	4	2
MAVRIDOGLOU Litsa		GR	28	62	0.451	0	4	4	3
G	PEKER Muharrem	29	27	1.074	0	5	4		
	BOUTET Dany	30	27	1.111	2	8	6		
	BOUERDICK Tobias	30	22	1.363	2	5	4		
	PEKER Muharrem	27	22	1.227	0	4	3		
	BOUERDICK Tobias	30	25	1.200	1	5	4		
	BOUTET Dany	30	25	1.200	1	5	4		
Players		Nat	T-Car	T-Inn	G.Avg	MP	1st HR	2nd HR	Place
BOUERDICK Tobias		DE	60	47	1.276	3	5	5	1
BOUTET Dany		BE	60	52	1.153	3	8	6	2
PEKER Muharrem		TR	56	49	1.142	0	5	4	3
H	NGUYEN Van Tai	30	10	3.000	2	12	5		
	PIEDRABUENA Pedro	11	10	1.100	0	9	2		
	KABAK Gurhan	14	19	0.736	0	3	3		
	PIEDRABUENA Pedro	30	19	1.578	2	5	5		
	KABAK Gurhan	21	22	0.954	0	4	3		
	NGUYEN Van Tai	30	22	1.363	2	5	4		
Players		Nat	T-Car	T-Inn	G.Avg	MP	1st HR	2nd HR	Place
NGUYEN Van Tai		VN	60	32	1.875	4	12	5	1
PIEDRABUENA Pedro		US	41	29	1.413	2	9	5	2
KABAK Gurhan		DE	35	41	0.853	0	4	3	3



ANTWERP WORLD CUP 2025 (BE) 06-12 October 2025

Pre-Pre-Qual Groups

Group	Match Players	T-Car	T-Inn	Avg	MP	1st HR	2nd HR		
I	JETTEN Karina	12	25	0.480	0	3	2		
	GONZALEZ Pedro	30	25	1.200	2	6	4		
	ABDIN Mohamed	30	25	1.200	2	6	5		
	JETTEN Karina	17	25	0.680	0	3	2		
	ABDIN Mohamed	25	26	0.961	0	4	4		
	GONZALEZ Pedro	30	26	1.153	2	7	3		
Players		Nat	T-Car	T-Inn	G.Avg	MP	1st HR	2nd HR	Place
GONZALEZ Pedro		CO	60	51	1.176	4	7	6	1
ABDIN Mohamed		EG	55	51	1.078	2	6	5	2
JETTEN Karina		NL	29	50	0.580	0	3	3	3
Group	Match Players	T-Car	T-Inn	Avg	MP	1st HR	2nd HR		
J	AYMAN Mahmoud	23	31	0.741	0	3	2		
	ESCRIBANO Joseba	30	31	0.967	2	6	3		
	GULBAY Ali	18	27	0.666	0	3	2		
	AYMAN Mahmoud	30	27	1.111	2	5	4		
	GULBAY Ali	30	24	1.250	2	6	4		
	ESCRIBANO Joseba	22	24	0.916	0	10	3		
Players		Nat	T-Car	T-Inn	G.Avg	MP	1st HR	2nd HR	Place
ESCRIBANO Joseba		ES	52	55	0.945	2	10	6	1
GULBAY Ali		TR	48	51	0.941	2	6	4	2
AYMAN Mahmoud		EG	53	58	0.913	2	5	4	3
Group	Match Players	T-Car	T-Inn	Avg	MP	1st HR	2nd HR		
K	PHILIPOOM Jozef	22	22	1.000	0	4	3		
	SAINZ PARDO Daniel	30	22	1.363	2	6	5		
	IBRAIMOV Ali	17	24	0.708	0	3	2		
	PHILIPOOM Jozef	30	24	1.250	2	5	4		
	IBRAIMOV Ali	24	23	1.043	0	5	3		
	SAINZ PARDO Daniel	30	23	1.304	2	5	3		
Players		Nat	T-Car	T-Inn	G.Avg	MP	1st HR	2nd HR	Place
SAINZ PARDO Daniel		ES	60	45	1.333	4	6	5	1
PHILIPOOM Jozef		BE	52	46	1.130	2	5	4	2
IBRAIMOV Ali		DE	41	47	0.872	0	5	3	3
Group	Match Players	T-Car	T-Inn	Avg	MP	1st HR	2nd HR		
L	LUAN Nguyen Dinh	30	34	0.882	2	7	4		
	VANDENDRIESSCHE Philippe	29	34	0.852	0	4	4		
	MORTENSEN Lukas	30	12	2.500	2	11	5		
	VANDENDRIESSCHE Philippe	15	12	1.250	0	7	3		
	MORTENSEN Lukas	30	27	1.111	2	5	4		
	LUAN Nguyen Dinh	18	27	0.666	0	5	2		
Players		Nat	T-Car	T-Inn	G.Avg	MP	1st HR	2nd HR	Place
MORTENSEN Lukas		DK	60	39	1.538	4	11	5	1
LUAN Nguyen Dinh		VN	48	61	0.786	2	7	5	2
VANDENDRIESSCHE Philippe		BE	44	46	0.956	0	7	4	3



Union Mondiale de Billard

ANTWERP WORLD CUP 2025 (BE)

06-12 October 2025

Pre-Pre-Qual Groups

Pre-Pre-Qual Groups									
Group	Match Players		T-Car	T-Inn	Avg	MP	1st HR	2nd HR	
M	SZIVACZ Herbert		19	24	0.791	0	4	4	
	DE BACKER Peter		30	24	1.250	2	5	4	
	MINAOGLU Manolis		26	26	1.000	0	12	3	
	SZIVACZ Herbert		30	26	1.153	2	8	3	
	MINAOGLU Manolis		24	18	1.333	0	7	4	
	DE BACKER Peter		30	18	1.666	2	6	5	
Players		Nat	T-Car	T-Inn	G.Avg	MP	1st HR	2nd HR	Place
DE BACKER Peter		BE	60	42	1.428	4	6	5	1
SZIVACZ Herbert		AT	49	50	0.980	2	8	4	2
MINAOGLU Manolis		TR	50	44	1.136	0	12	7	3
N	ESEN Ismet		17	15	1.133	0	4	2	
	LEE Beom Yeol		30	15	2.000	2	14	6	
	UMEDA Ryuuji		30	25	1.200	2	8	7	
	ESEN Ismet		28	25	1.120	0	5	4	
	UMEDA Ryuuji		26	16	1.625	0	4	4	
	LEE Beom Yeol		30	16	1.875	2	6	4	
Players		Nat	T-Car	T-Inn	G.Avg	MP	1st HR	2nd HR	Place
LEE Beom Yeol		KR	60	31	1.935	4	14	6	1
UMEDA Ryuuji		JP	56	41	1.365	2	8	7	2
ESEN Ismet		TR	45	40	1.125	0	5	4	3
O	CATANO Huberney		30	23	1.304	2	6	3	
	LATORRE Christian		8	23	0.347	0	2	1	
	TSOKANTAS Dionisis		30	30	1.000	2	4	4	
	LATORRE Christian		18	30	0.600	0	3	2	
	TSOKANTAS Dionisis		27	24	1.125	0	5	4	
	CATANO Huberney		30	24	1.250	2	9	3	
Players		Nat	T-Car	T-Inn	G.Avg	MP	1st HR	2nd HR	Place
CATANO Huberney		CO	60	47	1.276	4	9	6	1
TSOKANTAS Dionisis		GR	57	54	1.055	2	5	4	2
LATORRE Christian		CO	26	53	0.490	0	3	2	3
P	KIM Do Hyeon		30	21	1.428	2	8	7	
	VAN ACKER Steven		11	21	0.523	0	3	2	
	CAMBERLIN Fabien		16	27	0.592	0	4	3	
	VAN ACKER Steven		30	27	1.111	2	6	4	
	CAMBERLIN Fabien		21	23	0.913	0	3	2	
	KIM Do Hyeon		30	23	1.304	2	4	3	
Players		Nat	T-Car	T-Inn	G.Avg	MP	1st HR	2nd HR	Place
KIM Do Hyeon		KR	60	44	1.363	4	8	7	1
VAN ACKER Steven		BE	41	48	0.854	2	6	4	2
CAMBERLIN Fabien		FR	37	50	0.740	0	4	3	3